CHE101 - Extra Practice - Chapter 8: Reactions - F19 - Ver. 6

Name: Class: Date:

Answer the following reactions. Balance all charges, balance the reaction, include states when known. Write NR
if no reaction occurs.

1. _ NH4ClI (aq) +__ Ca(OH)z (s) —

2.  CsHis + O (g) —

w

. AgS04 (5) +__K (s) —

4. _ _Al(OH);3 (aq) +__ H3804 (aq) —
5. _ H3AsO4 () +__ NapCOg3 (aq) —
6. _ H3AsO4 () +__ K (s) —

7. _ H3PO4 (aq) +_ LiOH (aq) —

8. _ HF (aq) +__ Al(OH)3 (aq) —

9. _ Sc(OH)3 (aq) +__ HeSO0y4 (aq) —
10. _ NH4F () +__ Al(OH); (s) —

11. _ CH30H +__ Oy (g) —

12. _ CoH;OH +__ Oy (g) —

13. _ _HNOj3 (aq) +___ Aly(SOs)3 () —
14. _ Mg (s) +__ CaFy () —

15. _ Fo (g) +_ 7Znly (aq) —

16. _ H3SO4 (aq) +_ MgCOj3 (s) —
17. _ CsHg +_ Oy (g) —

18. __ H,S04 (aq) +__ KOH (aq) —
19. __Al(s) +__ ZnCO3 (s) —

20. _ HCl (aq) +___ Fo (g) —
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NH4Cl (aq) + 1. Ca(OH)2 (s) — L. Ca(Cl)2 (aq) + 2. H2O (1) + 2 NH; (g)

CsHig+ 8 0O2(g) — 5. COz(g) + 6 H0 (g) + heat
K(s)+ 1 AgeSO4(s) — 2 Ag(s) + 1 KzS04 (aq)

Al(OH)3 (aq) + 3 H2SO4 (aq) — 1 Aly(SO4)3 () + 6 H20 (1) + heat
H3AsO4 () + 187 NapCOj (aq) —s 120 NazAsOy (aq) + 137 HoO (1) + 3 COs (g)
K (s) + H3AsO4 () — 3. Ha (g) +

2 K3AsOy4 (aq)

H3PO4 (aq) + i LiOH (aq) — L LigPO4 ( ) + i HQO (1) + heat

HF (aq) + 1 Al(OH)3 (aq) — 1 AlF3 () + 3 H0 (1) + heat
SC(OH)g (aq) + 3 HySO4 (aq) — 1 SCQ(SO4)3 ( ) + 6 H>O (1) + heat
NH4F () +

1 Al(OH)3 (s) — 1 AlF3 () + 3. Hy0 () + 3 NHs (g)

2 CH3;0H+ 3 O2(g) — 2. CO2 (g) + 4. H20 (g) + heat

CoH;0H + 3 O (g) — 2 COy (g) + 3 H5O (g) + heat

HNOj3 (aq) + L. Alx(SO3)s () — 2. Al(NOs); (aq) + 3. HO (1) + 3 SOz (g)

__ Mg (s) +__CaFy () — NR

=

Fy (g) + L Znly (aq) — L I (s) + L. ZnFy ()

HyS04 (aq) + 1. MgCO3 (s) — 1 MgSOy4 (aq) + 1 HyO (1) + 1 CO2 (g)

CsHg+ 5 Oz (g) — 3 CO2(g) + 4 Hy0 (g) + heat

HsSO4 (aq) + 2 KOH (aq) — 1 KySO4 (aq) + 2 H-0 (1) + heat

Al (s) + 3 ZnCOj (s) — 3. Zn (s) + 1 Al(CO3)3 ()

HCI (aq) + [10 Fy (g) — [0 Cly (g) + 120 HF (aq)



